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EXAMINATION FOR EXCELLENT STUDENTS

SUBJECT: BIOLOGY
I.Objective test.
Question 1:

When cross-fertilizing purebred peas with yellow seeds, smooth skin with green seedlings, pure crust, the phenotype obtained in F1 hybrids is what? (knowing that gold is superior to green, smooth is superior to wrinkles)
Question 2:

A four-fold continuous fruit fly. Determine the number of daughter cells that were created?
Question 3

In fruit fly 2n = 8. The number of double chromosomes in the middle of the fall II is?
Question 4

The notion that the mother decides to give birth to a son or daughter is right or wrong, why?
Question5

In the fruit fly A genes regulate gray body, gene a regulates black body, gen B regulates long wing, gen b regulates penguins. Two pairs of genes regulate body color and wing size along a normal chromosome and fully align. What are the gametes that produce male
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  gametes?
Question 6
What are the additional rules in the structure of DNA?
Question 7
Observe the following illustration and determine what type of mutation it is.
ABCDEFGH                       ABCDEFG 

Question.8
Why structural mutations are often harmful to the organism itself?
Question 9
In vitro cells, body 3 infection
 What is the number of chromosomes (2n + 1) in humans?
Question 10

What role does twins  child research play in genetic research?
II.Self-reflection exercises
Question 1

In a plant species gene A regulates the characteristic of gold particles is superior to the gene a: green seed. Selection of pollinated honeysuckle seed yielded 241 F1 hybrid seeds.
a. Determine the number and percentage of phenotypes in F1. What is the color of the F1 hybrid seeds shown in the tree?
b. To determine the genotype of a F1 gold seed plant, homozygous or heterozygosities  what must we do?
c. For the yellow seedlings obtained at random F1 crossing. Determine the genotype ratio, the phenotypic ratio at F2.
KEY

Sentence 1: golden seeds, smooth shell

Question 2: 16 daughter cells

Question 3: 4
Question 4: Wrong. Because mothers produce only one egg, they create two types of sperm. If his father's sperm combines with his newborn eggs to develop into a male, then if his father's sperm combines with the egg to form a zygote develop into a daughter.
Question  5:  AB
Question  6:  A + G   =   T + X 

Question 7: Chromosome missing

Question 8: Because of breaking the chromosome structure or changing numbers and sorting the genes on that

Question  9: 47
Question 10: Which traits are mainly dependent on genotypes, which traits are easy to change due to the impact of the environment.

Question 11:

a. Number and percentage of phenotypes in F1

          According to the article, we have hybrid diagrams:
                       P:         Aa  (yellow)   X   Aa  (yellow)

                         GP: ½ A  : ½ a                 ½ A  : ½ a

                         F1:              ¼ AA  : ½ Aa  : ¼ aa  

             :   ¾ A-  : ¼ aa        yellow seed     : 241 x  ¾  
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                                                       green seeds    : 
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 60 seeds.

* The color of F1 hybrid appears on the tree of P. generation.

b. To determine the genotype of a F1-bearing plant, homozygous or heterozygous, use the following methods:

      - Analytical Hybridization: Give golden seedlings hybridized with blue seeded traits.

If the result of hybridization, the superiority of the hybrid is pure (AA). Diagram: AA x aa Aa
- Can give the body characteristics of self-pollinating gold particles:

If the result of crossbreeding, the superiority of the test should be pure (AA). Illustration: AA x AA AA

+ If the hybridization result is 3: 1, the superiority of the hybridization test is (Aa). Diagram: Aa x Aa 1AA: 2Aa: 1aa
c. F1 obtained the ratio: 1AA: 2Aa: 1aa

For F1 plants with a 1 / 3AA ratio: 2/3 Aa random assignment, the following cases occur:

1 / 3.1 / 3 (AA x AA) = 1/9 AA

2.1 / 3.2 / 3 (AA x Aa) = 4/9 (1 / 2AA: 1 / 2Aa)

2 / 3.2 / 3 (Aa x Aa) = 4/9 (1/4 AA: 2 / 4Aa: 1/4 aa)

Results obtained in F2:

TLKG: 8/9 A-: 1/9 aa

TLKH: 8 golden seeds: 1 green seed
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